A 2 o & A

Al A

TN S=EAA
M J8 YAHA 2=
ol FaEerd e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S=dgAd 43,471,106 39,494,576 3,976,529
= 24,662,688
Jl 6,468,103
= 12,340,314
S& HAHA A= 43,420,405 39,443,876 3,976,529
= 24,662,688
7l 6,468,103
S 12,289,614
At otd 2ke| 3,538,000 2,848,643 689,357
= 638,250
Il 1,311,000
= 1,588,750
HAES M2l Z X 22,400 22,400 0
308 AHXIHMSO0IA 22,400 22,400
01 RSN B EES 22,400 22,400
OHIAtE Meldlg X2 22,400
SitersSgde A 480,000 533,750 A53,750
308 XXM SOIA 30,000 0 30,000
01 XN B2 LS 30,000 0 30,000
O2dn MF=2 HADIE XN& 30,000
403 AXIEHMSA=0l1d 450,000 533,750 A\83,750
01 MXIHHA 22X 450,000 533,750 A83,750
OFMSHEE Szt Al 450,000
CEZAE Al X 2,185,000 2,138,333 46,667
Jl 1,311,000
= 874,000
307 glztol & 2,185,000 2,138,333 46,667
Il 1,311,000
== 874,000
03 2N EE2SHIEx 2,185,000 2,138,333 46,667
O==ZAXIE 2,185,000
Il 1,311,000
< 874,000
SH=L=ALZAR 2E+E 2,500 2,750 2250
= 1,250
= 1,250
301 2= 2,500 2,750 A250
= 1,250
= 1,250
BIlE2d=s 2,500 2,750 A250
OglsL=AUTAA 28=+E 2,500
= 1,250
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SRR

20,000
813,464
813,464
813,464

2,173,246
2,173,246
2,173,246

20,000
20,000
2,986,710
33,224
48,762
102,000
100,000

194,000
120,000
7,200
378,174
60,000
77,250
106,520
45,000
30,000
30,000
40,000
20,000
145,000
30,000
44,580
54,000
40,000
25,000
50,000
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30,000
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2A:

M MF SR 2E
el Ssggac (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OdtetHl ogers X3 30,000

Odtesit 85459 Nd 30,000
IIESSALRHA 527,363 479,125 48,238
308 XM SOIE 285,863 212,625 73,238
01 HAHHBLEXRS 285,863 212,625 73,238

OJtE &g8g & XML 288l & X 285,863
403 AXIEHHSAH=201H 241,500 266,500 225,000
01 AR A =2 £ 241,500 266,500 /25,000

OF4sIH IHHHAAE XA 241,500
=2 ol & B o4F 7Y S N 7,804,940 7,327,014 477,926

= 6,409,854

< 1,395,086
308 AXIHS0IA 7,804,940 7,327,014 477,926

= 6,409,854

== 1,395,086
01 HAHHBSEXS 7,804,940 7,327,014 477,926

(OF) = SN b 3,901,459

= 3,422,573

= 478,886

O4 E=4detd & 299 W28 812,598

= 478,000

== 334,598

OSHAl WM2Bt0ld A Al K& 2,064,183

= 1,711,819

= 342,364

OHXl A24&& = K& 167,700

= 129,000

= 38,700

OFAXE S S48l X2 348,493

= 268,072

[ 80,421

OFAXE PS Al HEMA 2= 80,301

= 61,770

= 18,531

Os=Y9 Jtat=ad| 19,500

= 15,000

s 4,500

O d=J| SsEH A& 166,400

= 128,000

& 38,400

OgssirEgae N 7,800

= 6,000

= 1,800

~
|




2A:

33 & SHHA 2=
el Ssggac EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAl S¥gsHIE A3 67,106
= 51,620
== 15,486
OJl=sot 2gael(Hed) X2 179,400
= 138,000
= 41,400
N2 6,750,000 7,467,187 ANT17,187
= 6,000,000
=S 750,000
308 XtXIEMSO0IH 6,750,000 7,467,187 ANT17,187
= 6,000,000
== 750,000
01 XN BSELES 6,750,000 7,467,187 ANT7,187
OJ=dgd axE 243 Kd 6,750,000
= 6,000,000
& 750,000
geitel & 28 SAEH S X2 430,690 312,000 118,690
= 331,300
= 99,390
403 THXISHMSAH=01H 430,690 312,000 118,690
= 331,300
=S 99,390
01 AR A =2 & 430,690 312,000 118,690
O =g AxtEX & 130,000
= 100,000
[ 30,000
OANENHASAIE XIS 300,690
= 231,300
= 69,390
=AU AN 2R A Ql2AH| X2 2,873,800 2,838,300 35,500
Il 1,724,000
=S 1,149,800
307 glztol & 2,873,800 2,838,300 35,500
Jl 1,724,000
< 1,149,800
03 2N EE2SHIE X 2,873,800 2,838,300 35,500
OJ=Rdgaid2F a2 N 2,873,800
Jl 1,724,000
= 1,149,800
SSHHE 28 XE 2,432,170 2,410,381 21,789
7l 1,870,900
= 561,270
308 XXM SOIA 2,432,170 2,410,381 21,789




2A:

X ZH -
o=

el s=d9gard (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2

| 1,870,900
= 561,270

01 AXIEHZLAEXS 2,432,170 2,410,381 21,789
OZ3sgHe 29 K& 2,432,170
| 1,870,900
= 561,270

CCTV s g4Holzet 1,912,128 546,000 1,366,128
| 1,470,868
& 441,260

403 XSS K201 1,912,128 546,000 1,366,128
| 1,470,868
& 441,260

01 XISt AH22 £ 1,912,128 546,000 1,366,128
Osdt=0F groizet X 1,912,128
| 1,470,868
& 441,260

SHE=A2E & A=HIESKR 1,965,600 1,965,600 0
= 1,512,000
= 453,600

308 AXIHMSO0I& 1,965,600 1,965,600 0
= 1,512,000
& 453,600

01 AXIEHBLEES 1,965,600 1,965,600 0
OsSH=4A2g & A=HIE XA 1,965,600
= 1,512,000
& 453,600

TR olgeal X 9,615,727 9,737,351 A121,624
= 8,403,294
= 1,212,433

308 RXIHMSOIH 9,615,727 9,737,351 A121,624
= 8,403,294
& 1,212,433

01 XIXIEHHBAE LS 9,615,727 9,737,351 A121,624
OFHS olgretal XI& 6,898,816
= 6,355,097
& 543,719
OFHSE HEES Alsdl X 2,113,754
= 1,625,965
= 487,789
ORHS HAEES AEYA 23H K& 381,853
= 292,053
= 89,800
OFHS EHUE MHEH (M=) K 221,304

»
|




2A:

33 & SHHA 2=
el SSgg2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 130,179
=S 91,125
JIEMEA 2l - A2 90,000 45,000 45,000
= 60,000
< 30,000
308 AHAIEMSOIE 90,000 45,000 45,000
= 60,000
= 30,000
01 HAHHBSEXRS 90,000 45,000 45,000
OFHS Al2telJ12F cHMl HS Xl At=2tel 90,000
= 60,000
= 30,000
AP EE X2 98,000 98,000 0
= 80,000
== 18,000
308 AtXIEMSOIE 98,000 98,000 0
= 80,000
< 18,000
01 HAHHBAEEXS 98,000 98,000 0
Os=s24= ap 2L X3 98,000
= 80,000
= 18,000
SSEYAE 2SS |54 N2 212,170 186,200 25,970
= 173,200
=S 38,970
308 XXM SOIA 212,170 186,200 25,970
= 173,200
< 38,970
01 XN BSEES 212,170 186,200 25,970
OSEEYE 28035 54 A& 212,170
= 173,200
= 38,970
SSEAFINLA=Y 2,880 3,600 AT
203 =] 2,880 3,600 AT20
03 A=A 2= 2,880 3,600 AT20
OsSYAeM Aoz 2,880
ALY -l JIEEAMS HE K& 137,002 137,002 0
Jl 91,335
< 45,667
308 AXIMSOIA 137,002 137,002 0
) 91,335
< 45,667
01 HAHHBAEEXS 137,002 137,002 0




2A:

o HX YOI H P
el Ssggac EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEE TP Y EE 137,002
p 91,3%
= 46,667
M EIIEHE AILEH XIS 482,700 202,449 280,251
2 390,000
= %, 700
403 XHXISHHIS 20| & 482,700 137,280 345,420
2 390,000
= 9,700
01 RXISHAHZEE 482,700 137,280 345,420
ODHAl AHY A& X8 390,000
=2 300,000
= 90,000
O0IS4! BHE A& X %, 700
2 90,000
= 2,700
AIIAIS 02 S X 758,927 0 758,927
2 583,790
= 175,137
308 XX/ EHAI SO 758,927 0 758,927
=2 583,790
= 175,137
01 RXEHZAEES 758,927 0 758,927
OZIAZ ®al 85 AlsHl X2 758,927
=2 583,790
= 175,137
S28 WA ASRE BN X 105,300 0 105,300
2 81,000
= 24,300
308 XX/ EHAI SO 105,300 0 105,300
2 81,000
= 24,300
01 RXESHZAEES 105,300 0 105,300
OSE28 %4l AS2E EXAE X2 105,300
=2 81,000
= 24,300
IIERYR 2L Ot N 18,000 0 18,000
308 XX/ EHHISOIH 18,000 18,000
01 RXEHZAEES 18,000 18,000
OIEZYR22E Al X 18,000
B2 (SSUARIMD) 50,700 50,700
2| (SSLAAM D) 50,700 50,700
BEETICET e 50,700 50,700 0
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